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Quick Cross-Reference for Suggested Activities and Smart Timer Modes
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One Gate Fence Two Gates | Pendulum | Stopwatch
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* Use the time * Use time « Use the time = Measure the = Time students
measurement to | measurements to | measurement to | period of a running.
calculate the determine the calculate the pendulum. 0 .
. . " - * Operate Free
speed of a cart. | accelerationofa | launch speed of
) Fall Adapter
cart or the a ball.
: and Laser
acceleration due .
. ) * Operate the Switch.
0 gravity ofa Time-of-Flight
Picket Fence, A CCOSSOTY
CCLSSOTY
One Gate Collision Pulley Pulley
(cmis) . (emis) (rad/s) (revis)
SPEED — f/"' = Z \ \

I I I \ / /
Measure the speed | Measure the initial and final | Measure one = Continuously
of a cart. speeds of two carts during a | speed on a Smart | monitor angular

collision for conservation of | Pulley. speed in
momentum. conservation of
angular momentum
experiments.
One Gate | Linear Pulley | AngularPulley | Two Gates
(cm/s?) (cm/s?) (rad/s?) (cm/s)
AcCEL| — — A ) Z ﬂ
LT
* Measure accel- Measure the Measure the Measure the average
cration of a cart at acceleration of a acceleration of a acceleration of a cart
one point on the hanging mass in hanging mass in over the whole
track. rotational inertia rotational inertia length of the track.
+ Measure the accel- experiments., experiments.
eration due to gravity
(g) ofa Picket Fence.
Counts for |
30 seconds 60 seconds 5 minutes

* Count blocking events for the specified period of time,

» Measure radiation emission events with the GM Tube/Power Supply.

# M1, 2= F# P a4y [COUNTS]
# 12, 2= E&Fp=t4% [30seconds]
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